1. What are the errors in a test?

a. Alpha is set by convention= P(H0 is rejected given that H0 is true) (false positive), type I error
b. What is beta? = P(H0 is not rejected given that H0 is false) (false negative), type II error

c. Develop the picture and math to calculate beta.  Use example, the purple grape juice example.
d. Points to make:

i. Null distribution versus true distribution

ii. Null mean versus true mean

iii. Also emphasize that there is a difference between a true t and an observed t, and draw the graphs

e. Do the math

f. Define t power.

g. EMPHASIZE that the tables give you just the one-tailed probability.  You need to think carefully what to do with that probability.  Simple rule: if

h. Example: purple grape juice: after- before measure of blood vessel flexibility for n = 28 human subjects

i. Let’s say we have an n of 100.  How small a delta will we be able to detect in our test?

	mean
	4.539286

	 n
	28

	sd
	6.824376

	sem
	1.289686

	mu 0
	0

	
	

	t obs
	3.519683

	t crit
	1.703288

	P
	0.000776

	
	

	desired power
	0.95

	t power
	-1.70329

	desired delta
	2

	
	

	guess for n
	131

	guess for t crit
	1.656658

	minimum n
	131.4409




	sample size
	100

	delta
	2.295501

	sample size
	1000

	delta
	0.722878

	sample size
	10

	delta
	7.631757


